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Multiplying and Dividing Rational Numbers Name:
Solve each problem. Answers
1) 21+ (-86) =
1
2) 82+ (-52) =
2.
3) 64-20=
3.
4) 18+ (-93.5) =
4,
5) 23.07-65=
5.
6) 93-99.2=
6.
7) 19-(-18) =
7.
8) 27-54=
8.
9) 54.792-(-8) =
9.
10) 31.04+6=
10.
11) 55.761 + (-59.8) =
11.
12) 56 -43.008 =
12.
13) 65.001-82.1=
13.
14) 21-(-98) =
14,
15) 42.8-(-98) =
15.
16) 85.98+195=
16.
17) 64 - (-54.36) =
17.
18) 19- (-44.01) =
18.
19) 88.006 - (-95.033) =
19.
20) 95.991 + (-9.02) =
20.
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ﬂh Multiplying and Dividing Rational Numbers Name.Answer Key

Solve each problem. Answers
1) 21+(-86)= -65

1 -65
2) 82+(52)= 30

2 30
3) 64-20= 44

3. 44
4) 18+ (-935)= -75.5

4. -/5.5
5) 23.07-65= -41.93

5, -41.93
6) 93-992= 6.2

6. -6.2
7) 19-(-18)= 37

7. 37
8) 27-54= -27

8. -27
9) 54.792-(-8)= 62.792

9. 62.792
10) 31.04+6= 37.04

10. 37.04
11) 55.761+ (-59.8) = -4.039

1. -4.039
12) 56-43.008 = 12.992

12. 12992
13) 65.001-82.1= -17.099

13, -17.099
14) 21-(-98)= 119
) (-98) " 119
15) 42.8-(-98)= 140.8

15. 140.8
16) 85.98 +19.5= 105.48

16, 105.48
17) 64-(-54.36)= 11836

17 118.36
18) 19- (-44.01) = 63.01

18, 63.01
19) 88.006 - (-95.033) = 183.039

10, 183.039
20) 95.991+(-9.02)= 86.971

0. 86.971
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Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

Answers

-27 -4.039
37 62.792
-75.5 -6.2

12.992
30
-65

-41.93
37.04

44

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

21+ (-86) =

82+ (-52) =

64-20=

18 + (-93.5) =

23.07-65=

93-99.2=

19- (-18) =

27-54=

54.792 - (-8) =

31.04+6=

55.761 + (-59.8) =

56 - 43.008 =

10.

11

12.

C

Modified
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